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narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð >na 
Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book. 

 

 Series JMS/C  H$moS> Z§.      

 Code No. 

amob Z§. 
Roll No. 

   
 

 

 

g§ñH¥$V_²  
SANSKRIT 

Ad{Y… : hmoamÌ`_²    nyUm©‘>m… : 80 

{ZYm©[aV g_` : 3 KÊQ>o    A{YH$V_ A§H$ : 80 

Time allowed : 3 hours Maximum Marks : 80 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 19 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥>ð> na {bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >16 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©† _| 
10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a 
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 19 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 16 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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IÊS>… H$ : An{R>Vm§e-Ad~moYZ_² (An{R>Vm§e-Ad~moYZ)   10 A‘>m… 

SECTION A : Unseen Reading Comprehension 

IÊS>… I : aMZmË_H$H$m`©_² (aMZmË_H$-H$m`©)  15 A‘>m… 

SECTION B : Writing Skills 

IÊS>… J : AZwà`wŠVì`mH$aU_² (AZwà`wº$ ì`mH$aU) 25 A‘>m…   

SECTION C : Applied Grammar 

IÊS>… K : n{R>V-Ad~moYZ_² (n{R>V-Ad~moYZ)  30 A‘>m… 

SECTION D : Reading Comprehension 

 

{ZX}em… : 
Instructions : 

(i) Apñ_Z² àíZnÌo MËdma… IÊS>m… gpÝV & 
 Bg àíZ-nÌ _| Mma IÊS> h¢ & 
 The question paper has four sections. 

(ii) àË`oH§$ IÊS>_² A{YH¥$Ë` CÎmam{U EH$pñ_Z² ñWmZo H«$_oU boIZr`m{Z & 
 àË`oH$ IÊS> Ho$ CÎma EH$ hr OJh na H«$_ go {bIZo hm|Jo & 
 The answers to each section must be written at one place. 

(iii) àíZg§»`m àíZnÌmZwgma_² Adí`_od boIZr`m & 
 àíZ-nÌ Ho$ AZwgma àíZ-g§»`m Adí` hr {bIZr hmoJr & 
 Write the question number according to the question paper. 

(iv) gd}fm§ àíZmZm_² CÎmam{U g§ñH¥$VoZ boIZr`m{Z & 
 g^r àíZm| Ho$ CÎma g§ñH¥$V _| {b{IE & 
 Answer all the questions in Sanskrit. 
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IÊS…> H$ (SECTION A) 

An{R>Vm§e-Ad~moYZ_² (An{R>Vm§e-Ad~moYZ) 

 Unseen Reading Comprehension             10 A‘>m… 

1. AYmo{b{IV_² AZwÀN>oX§ n{R>Ëdm àXÎmàíZmZm_² g§ñH¥$VoZ CÎmaV & 

 {ZåZ{b{IV AZwÀN>oX H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE & 

 Read the following passage and answer the given questions in Sanskrit.  

           OrdZo kmZàmßVo: AZoH$m{Z gmYZm{Z ^dpÝV & {dÚmb¶o d¶§ nwñVHo$ä¶: {d{dY§ 

kmZ§ àmßZw‘:, na§ ì¶mdhm[aH§$ kmZ‘{n OrdZm¶ na‘mon¶mo{J dV©Vo & ì¶mdhm[aH$kmZñ¶ àmßVm¡ 

Vw bmoH$ì¶dhma: Ed gdm©{YH§$ ‘hÎdnyUª gmYZ‘pñV & bmoH$ì¶dhmakmZ§ Xoeñ¶ 

{d{^ÞàXoemZm§ n¶©Q>ZoZ gabV¶m ^d{V & ¶Xm d¶§ n¶ ©Q>Z§ Hw$‘©: VXm VÌ n¶©Q>ZoZ  

VÌË¶ – g§ñH¥${V – dof^yfm – dmVmdaU – ^yJmob – B{Vhmg – CËgd – àWmXrZm§ {df¶mUm§ 

kmZ§ àmßZw‘: & EVXod H$maU§ ¶X² {dÚmb¶ofw N>mÌmUm§ H¥$Vo AdH$meH$mbo e¡j{UH$¶mÌm¶m: 

Am¶moOZ§ {H«$¶Vo & Ed§ {h e¡j{UH$n¶©Q>ZoZ bmoH$ì¶dhmañ¶, gm‘m{OH$ g§ñH¥$VoíM ~moY: 

Om¶Vo & 

 

 àíZm… 

 (A) EH$nXoZ CÎmaV & (Ho$db§ àíZMVwîQ>`_²)  

  EH$ eãX _| CÎma Xr{OE & (Ho$db Mma àíZ) 

  Answer in one word. (Only four questions) 
2

1
 4=2 

(i) kmZàmßVo: Hw$Ì AZoH$m{Z gmYZm{Z ^dpÝV ? 

(ii) {dÚmb¶o d¶§ Ho$ä¶: {d{dY§ kmZ§ àmßZw‘: ? 

(iii) H$sÑe§ kmZ§ OrdZm¶ na‘mon¶mo{J dV©Vo ? 

(iv) {dÚmb¶ofw e¡j{UH$¶mÌm¶m: Am¶moOZ§ H$Xm {H«$¶Vo ? 

(v) ì¶mdhm[aH$ kmZñ¶ àmßVm¡ ‘hÎdnyUª gmYZ§ {H$‘pñV ? 
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(~)  nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZÛ`_²) 

 nyU© dmŠ` _| CÎma Xr{OE & (Ho$db Xmo àíZ) 
Answer in a complete sentence. (Only two questions)  1 2=2 

(i) bmoH$ì¶dhmakmZ§ gabV¶m H$W§ ^d{V ? 

(ii) d¶§ {d{^ÞàXoemZm§ n¶©Q>ZoZ Ho$fm§ kmZ§ àmßZw‘: ? 

(iii) e¡j{UH$n¶©Q>ZoZ H$¶mo: ~moY: Om¶Vo ? 

(g) `Wm{ZX}e_² CÎmaV & (Ho$db§ àíZMVwîQ>`_²) 

{ZX}emZwgma CÎma Xr{OE & (Ho$db Mma àíZ)  
 Answer according to instructions. (Only four questions)  1 4=4  

(H$) ‘àmßZw‘:’ B{V {H«$¶mnXñ¶ H$V©¥nX§ {H$‘² ? 
(i) {dÚmb¶o  
(ii) d¶‘² 
(iii) kmZ‘² 

(I) ‘^«‘UoZ’ B{VnXñ¶ n¶m©¶nX§ qH$ à¶wº$‘² ? 
(i) e¡j{UH$¶mÌm¶m:  
(ii) dmVmdaU‘² 
(iii) n¶©Q>ZoZ 

(J) d¶§ nwñVHo$ä¶: {d{dY§ kmZ§ àmßZw‘: AÌ dm³¶o {deofUnX§ qH$ à¶wº$‘² ? 
(i) d¶‘² 
(ii) {d{dY‘² 
(iii) kmZ‘² 

(K) ‘H${R>ZV¶m’ B{VnXñ¶ {dbmo‘nX§ qH$ à¶wº$‘² ? 
(i) na‘mon¶mo{J 
(ii) AZoH$m{Z 
(iii) gabV¶m  

(L>) d¶‘² gd©Zm‘nX§ Ho$ä¶: à¶wº$‘² ? 
(i) N>mÌoä¶: 
(ii) kmZñ¶ H¥$Vo 
(iii) nwñVHo$ä¶: 

(X) Añ` AZwÀN>oXñ` H¥$Vo Cn ẁº§$ erf©H§$ g§ñH¥$VoZ {bIV & 

 Bg AZwÀN>oX Ho$ {bE Cn ẁº$ erf©H$ g§ñH¥$V _| {b{IE & 
 Write the appropriate title for this passage in Sanskrit. 2 



52 5 P.T.O. 

IÊS…> I (SECTION B) 

aMZmË_H$H$m`©_² (aMZmË_H$-H$m`©) 

 Writing Skills 15 A‘>m… 

2. ^dV: Zm‘ gwHo$e: ApñV & ^dVm OÝVwembm ÑîQ>m & EVX²{df¶o ñd{‘Ì§ {XZoe§ à{V {b{IVo 
nÌo ‘ÄOyfm-nXmZm§ ghm¶V¶m [aº$ñWmZm{Z nya{¶Ëdm nÌ§ M nwZ: CÎmanwpñVH$m¶m§ {bIV & 

 gwHo$e Ûmam AnZo {‘Ì {XZ oe H$mo ‘OÝVwembm’ H$m dU©Z H$aVo hþE {bIo JE nÌ ‘| [aº$ ñWmZm| 
H$s ny{V© ‘ÄOyfm ‘| {XE JE nXm| H$s ghm¶Vm go H$a nÌ H$mo nwZ: {b{IE &  

 Complete the following letter (about zoo) written by Sukesh to his friend 

Dinesh, with the help of the words given in the box and rewrite the same. 

  
2

1
 10=5 

       (i) ____________ 

 {XZm‘>:____________ 

{à` {_Ì {XZoe !  

 gào‘ (ii) ____________  

  (iii) ____________ Ah§ {‘Ì¡: gh OÝVwembm§ ÐîQw>§ H$mobH$mVmZJa‘² 

AJÀN>‘² & VÌ (iv) ____________ ‘¶m Z¡Ho$ ned: n{jU: M ÑîQ>m: &  

gd} OÝVd: ^¶a{hVm: gÝV: (v) ____________ ^«‘pÝV ñ‘ & qghm: Cƒ¡: JO©pÝV 

ñ‘ & ‘¶yam: Ho$H$mad § H¥$Ëdm (vi) ____________ ñ‘ & dñVwV: ‘¶ya§ {dZm OÝVwembm 

Z (vii) ____________ & VÌ Am‘«d¥jofw H$mo{H$bm: (viii) ____________ Hy$OpÝV 

ñ‘ & {XZmÝVo d¶§ (ix) ____________ OmVm: & nwZ: d¶§ VV: àpñWVm: & J¥ho 

gd}ä¶: ‘‘ àUm‘mÄOb¶: {ZdoXZr¶m: & 

    Vd ____________ 

 (x) ____________ gwHo$e: 

_ÄOyfm 

 

A{^ÞöX¶:, emo^Vo, H$mobH$mVmZJamV², n[almÝVm:, VÌ, ‘YwañdaoU, BVñVV:, 
Z¥Ë¶pÝV, {dJV{Xdgo, Z‘mo Z‘: & 
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3. AY: àXÎm§ {MÌ§ ÑîQ²>dm _ÄOyfm`m§ àXÎmeãXmZm§ gmhmæ òZ nÄM dmŠ`m{Z g§ñH¥$V oZ {bIV & 
 ZrMo {XE JE {MÌ H$m dU©Z _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go nm±M g§ñH¥$V dmŠ`m| _| 

H$s{OE & 
 Describe the following picture in five Sanskrit sentences with the help of 

the words given in the box below. 2 5=10  

 
_ÄOyfm 

 
AWdm  (OR) 

 _ÄOyfmàXÎmeãXmZm§ gmhmæ òZ {ZåZ{b{IV§ {df`_² A{YH¥$Ë` nÄM{^: g§ñH¥$VdmŠ`¡: EH$_² 
AZwÀN>oX§ {bIV &  

 _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go {ZåZ{b{IV {df` na nm±M g§ñH¥$V dmŠ`m| _| EH$ 
AZwÀN>oX {b{IE & 

 Write a paragraph in five Sanskrit sentences on the following topic with 

the help of the words given in the box. 2 5=10 

    ‘‘^maV‘²’’ 

     _ÄOyfm  

    _ÄOyfm 

 

 

Añ‘mH$‘², A¶‘², Xoe:, ^maVdf©‘², {h‘mb¶mV² am‘oídan`©ÝV_², ZÚ:, J§Jm,  
¶‘wZm, JmoXmdar, à^¥V¶:, AÌ, H$mer, à¶mJ:, ‘Wwam, VrW©ZJam{U, OmVm:, AÌ¡d,  
am‘-H¥$îU-Jm¡V‘m:, J«m‘àYmZ:, H¥${fàYmZ: &  

~mbH$:, nmXH$ÝXþHo$Z, nwñVH$‘², nR>{V, d¥jm:, Ûm¡ ~mbH$m¡, {MÌ’$bHo$, H«$sS>V:, 
~m{bH$m, Xmobm¶m§, {Z‘m©U§, {MÌ‘², ¶ÝÌoU, ní¶{V, d¥jo, AY: &  
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IÊS…> J (SECTION C) 
AZwà`wŠVì`mH$aU_² (AZwà`wº$ ì`mH$aU) 

 Applied Grammar 25 A‘>m… 

4. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXofw gpÝY¨ gpÝYÀN>oX§ dm H¥$Ëdm {bIV & (Ho$db§ àíZMVwîQ>`_²) 
 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| _| gpÝY AWdm gpÝY-{dÀN>oX H$aHo$ {b{IE &  

                                                                    (Ho$db Mma àíZ) 
 Write the underlined words of the following sentences after joining or 

disjoining Sandhis. (Only four questions)  1 4=4  

(i) grVm§ à{V Vw A¶§ bmoH$mndmX: & 

(ii) Añ¶ íbmoH$ñ¶ AZw + A¶: A{V‘hÎdnyU© ApñV & 

(iii) d¥jÀN>m¶m erVbm ^d{V & 

(iv) OJV² + B©e OJV² nmb¶{V &  

(v) ZÚm: + VQ>o Zm¡H$m ApñV & 

5. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXmZm§ g_mg§ {dJ«h§ dm àXÎm{dH$ënoä`… {MËdm {bIV &  
                                                                (Ho$db§ àíZMVwîQ>`_²) 

 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| H$m g_mg AWdm {dJ«h {XE JE {dH$ënm| _| go MwZH$a 
{b{IE & (Ho$db Mma àíZ) 

 Choose and write the correct compounded or expounded forms of the 

underlined words in the following sentences. (Only four questions)  1 4=4  

(H$) OJV: {nVam¡ dÝXo & 

(i) ‘mVm M {nVa: M  

(ii)  {nVm M {nVm M  

(iii) ‘mVm M {nVm M & 

(I) AYwZm gy¶©ñ¶ CX¶: ^d{V & 

(i) gy¶m}X¶: 

(ii)  gy¶© CX¶: 

(iii) gy¶©^wX¶: & 
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(J) gamodao ZrbH$‘b§ emo^Vo ? 

(i) Zrb: H$‘b: 

(ii)  Zrb‘² H$‘b‘² 

(iii) ZrbíM H$‘bíM & 

(K) ZmQ>Ho$ Xe AmZZm{Z ¶ñ¶ g: am_§ dX{V & 

(i) XemZZ‘² 

(ii)  XemZZm{Z 

(iii) XemZZ: & 

(L>) ~mbHo$Z à{V{XZ‘² JrVm nR²>¶Vo & 

(i) {XZ‘² {XZ‘² à{V 

(ii)  {XZ‘² Ed 

(iii) {XZ‘² {XZo & 

6. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXmZm§ àH¥${V-àË``m¡ g§`moÁ` {d^Á` dm C{MV_² CÎma§ 
{dH$ënoä`: {MËdm {bIV & (Ho$db§ àíZMVwîQ>`_²) 

 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| _| àH¥${V-àË``m| H$mo Omo‹S>H$a `m n¥WH²$ H$aHo$ C{MV 
CÎma {dH$ënm| _| go MwZH$a {b{IE & (Ho$db Mma àíZ) 

 Write the underlined words of the following sentences after joining or 

disjoining suffixes to the roots or words, selecting the correct answer from 

the options given below. (Only four questions) 1 4=4  

(H$) N>mÌ¡: amîQ´>JrV§ J¡ + Vì¶V² & 

(i) JmVì¶: 

(ii)  JmVì¶‘² 

(iii) Jm¶Z‘² & 

(I) n[al‘ñ¶ ‘hÎd‘² H$mo Z OmZm{V ! 

(i) ‘h + Ëd‘²  

(ii)  _hV² + d‘² 

(iii) ‘hV² + Ëd & 
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(J) H$îQ>m{Z gh² + emZM² dram: H$s{Vª b^ÝVo & 
(i) gh‘mZ: 
(ii)  gh‘mZm: 
(iii) gh‘mZ‘² & 

(K) Efm ‘‘ nwÌ + L>rn² nR>{V & 
(i) nwÌ‘² 
(ii)  nwÌr‘² 
(iii) nwÌr & 

(L>) g: e{º$‘mZ² ApñV & 
(i) e{º$ + ‘Vwn²  
(ii)  e{º$ + ‘mZ² 
(iii) e{º$ + ‘mV² & 

7. AYmo{b{IV§ g§dmX§ _ÄOyfm`m§ XÎm¡: nX¡: dmÀ`n[adV©Z§ H¥$Ëdm nwZ: {bIV & 
 {ZåZ{b{IV g§dmX H$mo _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go dmÀ` n[adV©Z H$aVo hþE 

nwZ: {b{IE & 
 Re-write the following dialogue changing the voice with the help of  words 

given in the box.  13=3  

 am‘: — Ëd§ Hw$Ì JÀN>{g ? 

 í¶m‘: — ‘¶m Vw AmnU§ (i) __________ & 
 am‘: — Ëd§ VÌ {H$‘Wª JÀN>{g ? 
 í¶m‘: — ‘¶m VÌ (ii) __________ H«o$Vw§ Jå¶Vo & 
 am‘: — Ëd‘² AmnUmV² H$Xm AmJÀN>{g ? 
 í¶m‘: — (iii) __________ AmnUmV² nÄMdmXZo AmJå¶Vo & 

_ÄOyfm 

               

AWdm  (OR) 

 AYmo{b{IVmZm§ dmŠ`mZm§ dmÀ`n[adV©Z§ Hw$éV & 
 {ZåZ{b{IV dmŠ`m| _| dmÀ`-n[adV©Z H$s{OE & 

 Change the voice in the following sentences. 13=3 

(H$) ~mb: nwñVH§$ nR>{V & 
(I) Ëd¶m J¥h§ Jå¶Vo & 
(J) bVm {MÌm{U ní¶{V & 

’$bm{Z, ‘¶m, Jå¶Vo & 
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8. AYmo{b{IV{XZM`m©`m§ [aº$ñWmZm{Z H$mb~moYH$eãX¡: nya`V & (Ho$db§ àíZMVwîQ>`_²) 

 {ZåZ{b{IV {XZM`m© _| [aº$ ñWmZm| H$s ny{V© H$mb~moYH$ eãXm| go H$s{OE &  
                                                               (Ho$db Mma àíZ)  

 Fill in the following daily routine using words in place of figures.  

                                                                            (Only four questions)  
2

1
 4=2  

(H$) gwaoe: à{V{XZ§ àmV: _________ dmXZo C{ÎmîR>{V & 
                                            5:00  

(I) gm¡a^: gm¶§ _________ dmXZo H«$sS>{V & 
                                4:15 

(J) JrVm _________ dmXZo JrV§ Jm¶{V & 
         7:30  

(K) a{d: àmV: _________ dmXZo {dÚmb¶§ JÀN>{V &  
                             10:00 

(L>) g: gm¶§ _________ dmXZo J¥h‘² AmJÀN>{V & 
            4:45 

9. AYmo{b{IVdmŠ`ofw [aŠVñWmZm{Z _ÄOyfmàXÎm¡: C{MV¡: Aì``nX¡: nya`V &  
                                                           (Ho$db§ àíZMVwîQ>`_²)  

 {ZåZ{b{IV dmŠ`m| _| [aº$ ñWmZm| H$s ny{V© _ÄOyfm _| {XE JE Aì`` nXm| Ho$ Ûmam H$s{OE &   
                                                                    (Ho$db Mma àíZ) 

 Fill in the blanks in the following sentences with appropriate 

indeclinable words given in the box. (Only  four questions)  14=4  

(H$) B©ída: _________ ñ_aUr¶: & 

(I) Ob§ _________ OrdZ‘² Ag §^d_²  ApñV & 

(J) Ah§ _________ {dÚmb¶§ JÀN>m{_ & 

(K) AgË¶§ _________ dX & 

(L>) Ëd‘² _________ {eîQ>: N>mÌ: & 

_ÄOyfm 

               BXmZr‘², {dZm, ‘m, Ed, gXm & 
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10. AYmo{b{IVdmŠ`ofw aoIm{‘>VnX_² AewÕ_² ApñV & AewÕ§ nX§ g§emoÜ` nwZ: {bIV &  
                                                                (Ho$db§ àíZMVwîQ>`_²)  

 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nX AewÕ h¡ & AewÕ nXm| H$mo g§emo{YV H$a nwZ: {b{IE &   
                                                                    (Ho$db Mma àíZ) 

 Correct the underlined incorrect words and rewrite the following 

sentences. (Only  four questions)   1 4=4  

(H$) ~mbH$: nmR>§ nR>pÝV & 

(I) íd: gwaoe: {dÚmb¶§ JÀN>{V & 

(J) J«m‘§ n[aV: d¥jm: ApñV & 

(K) `y`_² gdm©{U nwñVH$m{Z AmXm¶ JÀN>m‘: & 

(L>) AemoH$: ‘‘ {‘Ì: ApñV & 

IÊS…> K (SECTION D) 

n{R>V-Ad~moYZ_² (n{R>V-Ad~moYZ) 

 Reading Comprehension 30 A‘>m… 

11. AYmo{b{IV§ JÚm§e§ n{R>Ëdm àXÎmàíZmZm_² CÎmam{U g§ñH¥$VoZ {bIV & 

 {ZåZ{b{IV JÚm§e H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| {b{IE & 
 Read the following prose passage and answer the given questions in 

Sanskrit.  6  

         J¥ho Vñ¶ ^m¶m© gn{X g‘mJV§ nqV ÑîQ²>dm An¥ÀN>V² – Am¶© ! qH$ gd©JV§ Hw$eb§  

dV©Vo ? A¶WmH$mb§ g‘mJVmo@{g & gåà{V Y‘©‘{V: g: níMmÎmmnoZ X½Y‘mZg: gdª d¥ÎmmÝV§ 

{ZdoÚ gH$ê$U‘² Cƒ¡: AH«$ÝXV² & ~w{Õ‘Vr gm AdXV² – Ab§ {MÝV¶m & AmnXm§ Va{U: 

Y¡¶©‘² & BXmZt {dfmX§ Ë¶³Ëdm CÚ‘: {H«$¶Vm‘² & 

(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ`_²) 

EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ)  

 Answer in one word. (Only two questions) 1 2=2  

(H$) Y‘©‘{V: ^m`mª à{V {H$‘² {ZdoX`{V ? 

(I) H§$ Ë¶³Ëdm CÚ‘: {H«$¶Vm‘² ? 

(J) A¶WmH$mb§ H$: AmJV: ? 
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(~) nyU©dmŠ`oZ CÎmaV & (Ho$db § àíZ_oH$_²) 
nyU© dmŠ` _| CÎma Xr{OE & (Ho$db EH$ àíZ)  

 Answer in a complete sentence. (Only one question)  2 1=2  

(H$) ~w{Õ‘Vr gm {H$‘² AdXV² ? 

(I) X½Y‘mZg: Y‘©_{V: H$W‘² AH«$ÝXV² ? 

 

(g) àXÎm{dH$ënoä`: C{MV_² CÎma§ {MËdm {bIV & (Ho$db§ àíZMVwîQ>`_²) 

{XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & (Ho$db Mma àíZ) 

 Choose  and  write  the appropriate answer from the given  

options. (Only four questions) 
2

1
 4=2  

 (H$) ‘An¥ÀN>V²’ B{V {H«$¶mnXñ¶ qH$ H$V©¥nX§ JÚm§eo à¶wº$‘² ?   

 (i) g: 

 (ii)  ^m¶m© 

 (iii) àÀN>Z^m½¶:  

 (I) ‘gåà{V’ B{V nXñ¶ qH$ n¶m©¶nX§ JÚm§eo à¶wº$‘² ? 

 (i) gn{X 

 (ii)  BXmZr‘² 

 (iii) Y¡¶©‘²  

 (J) ‘¶WmH$mb‘²’ B{V nXñ¶ qH$ {dbmo‘nX§ JÚm§eo à¶wº$‘² ? 

 (i) g‘mJV‘² 

 (ii)  gåà{V 

 (iii) A¶WmH$mb‘²  
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 (K) ‘~w{Õ‘Vr’ BË¶ñ¶ {deoî`nX§ {H$‘² JÚm§eo à¶wº$‘pñV ? 

 (i) ^m¶m© 

 (ii)  Y‘©‘{V: 

 (iii) Va{U:  

 (L>) ‘g: ... AH«$ÝXV²’ dm³¶o g: B{V gd©Zm‘nX§ H$ñ‘¡ à¶wº$‘² ? 

 (i) Y‘©‘V¶o 

 (ii)  X½Y‘mZgm¶ 

 (iii) ^m¶m©¶¡ 

 

12. AYmo{b{IV§ nÚm§e§ n{R>Ëdm àXÎmàíZmZm_² CÎmam{U g§ñH¥$VoZ {bIV & 

 {ZåZ{b{IV nÚm§e H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| {b{IE & 

 Read the following poetry passage and answer the given questions in 

Sanskrit.  6 

Ob{~ÝXþ{ZnmVoZ H«$‘e: ny¶©Vo KQ>: & 

g hoVw: gd©{dÚmZm§ Y‘©ñ¶ M YZñ¶ M && 

 

(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ`_²) 

EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ)  

 Answer in one word. (Only two questions)  1 2=2  

(H$) Ho$Z KQ>: ny¶©Vo ? 

(I) H«$‘e: H$: ny¶©Vo ? 

(J) Ho$fm§ {ZnmVoZ KQ>: ny¶©Vo ? 
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(~) nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZ_oH$_²) 

nyU© dmŠ` _| CÎma Xr{OE & (Ho$db EH$ àíZ)  

 Answer in a complete sentence. (Only one question)  2 1=2  

(H$) Ho$fm‘² H«$‘e: {dH$mg: ^d{V ? 

(I) íbmoHo$ H$: à‘wI: {df¶: Cº$: ApñV ? 

 

(g) àXÎm{dH$ënoä`: C{MV_² CÎma§ {MËdm {bIV & (Ho$db§ àíZMVwîQ>`_²) 
{XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & (Ho$db Mma àíZ)  

 Choose  and  write  the appropriate answer from the given  

options. (Only four questions)  
2

1
 4=2  

 (H$) ‘ny¶©Vo’ B{V {H«$¶mnXñ¶ H$V©¥nX§ {H$‘² ApñV ?  

 (i) nQ>: 

 (ii)  KQ>: 

 (iii) YZ‘²  

 (I) ‘H$maU‘²’ BË¶W} AÌ qH$ nX‘² ApñV ? 

 (i) hoVw: 

 (ii)  Ob{~ÝXþ: 

 (iii) YZ‘²  

 (J) ‘AY‘©:’ B{V nXñ¶ {dbmo‘nX§ {H$‘² ApñV ? 

 (i) KQ>: 

 (ii) Ob{~ÝXþ: 

 (iii) Y‘©:  
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 (K) ‘g’ B{V gdm©Um‘nX§ H$ñ_¡ à¶wº$_² ? 

 (i) CÚ‘m¶ 

 (ii)  YZm¶ 

 (iii) Y‘m©¶ 

 

 (L>) ‘nVZoZ’ BË¶ñ¶ n¶m©¶nX§ qH$ à¶wº$‘² ? 

 (i) hoVw: 

 (ii)  {ZnmVoZ 

 (iii) H«$‘e: 

 
 

13. AYmo{b{IV§ ZmQ>çm§e§ n{R>Ëdm àXÎmàíZmZm_² CÎmam{U g§ñH¥$VoZ {bIV & 

 {ZåZ{b{IV ZmQ>çm§e H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| {b{IE & 

 Read the following drama passage and answer the given questions in 

Sanskrit. 6  

^r‘: – (¶w{YpîR>a§ à{V) ^«mV: ! Ðm¡{U‘² AZwJÝVw§ ‘Ü¶‘² AZw‘qV XXmVw ^dmZ² & 

¶w{YpîR>a: – JÀN> dËg ! {dO¶r ^d, ZHw$b: Vd gma{W: ^dVw & (^r‘goZ: {ZJ©ÀN>{V, 

lrH¥$îU: AOw©ZoZ gh à{de{V &) 

lrH¥$îU: – ^mo Y‘©amO ! g‘rMrZ§ Z H¥$V§ ^dVm & nwÌemoH${dh²db: ^r‘goZ: EH$mH$s Ed 

Ðm¡qU hÝVw‘² A{^Ymd{V & 

¶w{YpîR>a: – ^JdZ² ! g: Vw EH$mH$s Ed ÐmoUnwÌm¶ Ab‘² & 

lrH¥$îU: – dËg ! Z OmZm{V ^dmZ² Ðm¡Uo: Mnbm§ àH¥${V‘² & {nVw: ÐmoUmV² àmßV§ ~«÷{eamo 

Zm‘ AñÌ§ {dÚVo Vñ¶ nmíd} & ¶{X VV² à¶wÁ`Vo, gdm© n¥Ïdr X½Ym ñ¶mV² & 
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(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ`_²) 

EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ)  

 Answer in one word. (Only two questions)  1 2=2  

(H$) H$‘² AZwJÝVw§ ^r‘: ¶w{YpîR>a§ à{V AZw‘qV dmÄN>{V ? 

(I) {nVw: ÐmoUmV² àmßV§ qH$ Zm‘ AñÌ§ Ðm¡Uo: nmíd} {dÚVo ? 

(J) lrH¥$îU: Ho$Z gh à{de{V ? 

 

(~) nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZ_oH$_²) 

nyU© dmŠ` _| CÎma Xr{OE & (Ho$db EH$ àíZ)  

 Answer in a complete sentence. (Only one question)  2 1=2  

(H$) ¶{X ~«÷{ea: AñÌ§ à¶wÁ¶Vo V{h© qH$ ñ¶mV² ? 

(I) ^r‘goZ: EH$mH$s Ed {H$‘W©‘² A{^Ymd{V ? 

 

(g) àXÎm{dH$ënoä`: C{MV_² CÎma§ {MËdm {bIV & (Ho$db§ àíZMVwîQ>`_²) 

{XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & (Ho$db Mma àíZ)  

 Choose  and  write  the appropriate answer from the given  

options. (Only four questions)  
2

1
 4=2  

 (H$) ‘àH¥${V‘²’ B{V nXñ¶ {deofUnX§ {H$‘² ?  

 (i) ^dmZ² 

 (ii)  Mnbm‘² 

 (iii) Ðm¡Uo: 
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 (I) ‘à{de{V’ B{V {H«$¶mnXñ¶ {dbmo‘nX§ {H$‘² à¶wº$‘² ? 
 (i) JÀN>{V 
 (ii)  {ZJ©ÀN>{V 
 (iii) OmZm{V  
 

 (J) ‘Vñ¶’ B{V nX§ ZmQ²>¶m§eo H$ñ‘¡ à¶wº$‘² ? 
 (i) ^r‘goZm` 
 (ii)  Ðm¡{UH¥$Vo 
 (iii) ¶w{YpîR>am¶ 
 

 (K) ‘n¶m©ßV‘²’ B{V nXñ¶ qH$ n¶m©¶nX§ ZmQ>çm§eo à¶wº$‘² ? 
 (i) Ab‘² 
 (ii)  ì¶W©: 
 (iii) hÝVw‘²  
 

 (L>) ‘OmZm{V’ B{V {H«$¶mnXñ¶ H$V©¥nX§ qH$ à¶wº$‘² ? 

 (i) lrH¥$îU: 

 (ii)  ^r‘: 

 (iii) ^dmZ²  

14. aoIm{‘>VnXm{Z AmY¥Ë` àíZ{Z_m©U§ Hw$éV & (Ho$db§ àíZMVwîQ>`_²) 

 aoIm§{H$V nXm| Ho$ AmYma na àíZ {Z_m©U H$s{OE & (Ho$db Mma àíZ) 

 Frame the questions on the basis of the underlined words. (Only four 

questions) 1 4=4 

(i) g§JUH$¶ÝÌ‘² AmYw{ZH${dkmZñ¶ AX²^wV: Am{dîH$ma: & 

(ii) lÕmdmZ² kmZ‘² b^Vo & 

(iii) bmo{hVOZnXo AZoH$~m¡Õ{dhmam: gpÝV & 

(iv) gmYyZm‘² {MÎmo dm{M M gabVm ^d{V & 

(v) fS²> G$Vd: ‘o Zm^¶: & 



52 18 

15. _ÄOyfmV: g_w{MVnXm{Z {MËdm AYmo{b{IVíbmoH$Û`ñ` AÝd`§ nya`V & 

 _ÄOyfm _| go g_w{MV nX MwZH$a {ZåZ{b{IV XmoZm|  íbmoH$m| Ho$ AÝd` H$mo nyU© H$s{OE & 

 Complete the prose order of the following two shlokas by choosing the 

appropriate words given in the box.  
2

1
 8=4  

(H$) ¶V² àmoº§$ ¶oZ Ho$Zm{n Vñ¶ VÎdmW©{ZU©¶: & 

 H$Vwª e³¶mo ^doÚoZ g {ddoH$ BVr[aV: && 

 AÝd`: –  

 ¶oZ Ho$Z A{n ¶V² (i) ______________ Vñ¶ (ii) ______________ ¶oZ H$Vw©‘² 

(iii) ______________ ^doV² g: (iv) ______________ B{V B©[aV: & 

(I) ZmZmeñÌ{dX: nyd} ¶o@ß¶VrVm ‘hmaWm: & 

 Z¡VXñÌ§ ‘Zwî¶ofw V¡: à¶wº§$ H$WÄMZ &&  

 AÝd`: –  

 ¶o (i) ______________ ZmZmeñÌ{dX: nyd} ‘hmaWm: (ii) ______________ V¡: 
‘Zwî¶ofw EVX² (iii) ______________ Z  (iv) ______________ à`wº$_² & 

 
_ÄOyfm 

 

 

 

16. AYmo{b{IVmZm§ H$WZmZm§ g_w{MV§ ^md§ {dH$ënoä`: {MËdm {bIV & (Ho$db§ àíZMVwîQ>`_²) 

 {ZåZ{b{IV H$WZm| H$m g_w{MV ^md {dH$ënm| _| go MwZH$a {b{IE & (Ho$db Mma àíZ) 

 Choose and write the correct gist of the following sentences from the 

given options. (Only four questions) 1 4=4  

(H$) H$mH$ñ¶ JmÌ§ ¶{X H$mÄMZñ¶ & 

(i) AmoîR>m¡ 

(ii) eara‘² 

(iii) ‘wI‘²  

      AVrVm:, {ddoH$:, àmoº$‘², VÎdmW©{ZU©¶:, AñÌ‘², e³¶:, H$WÄMZ, A{n & 
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(I) ¶{ñÌfpîQ>eVmañ¶ AWª doX na: H${d: & 

(i) kmVdmZ² 

(ii) OmZm{V 

(iii) doXJ«ÝW:  

(J) na‘h‘² AIÊS>: emídV: {d^w: M & 

(i) Vrd«: 

(ii) namoj: 

(iii) gZmVZ: 

(K) dZm¡fYrZm§ Vw A¶§ òmoV: Ed & 

(i) àdmh: 

(ii) CX²J‘: 

(iii) loîR>:  

(L>) ‘‘ Z¥Ë¶§ àH¥$Vo: AmamYZm & 

(i) CnmgZm 

(ii) ^mdZm 

(iii) Ad‘mZZm  

 


